O.P.JINDAL SCHOOL, ANGUL

QUESTION BANK OF EVS

CLASS - IV

CH.- 4 (THE STORY OF AMRITA)

A. MULTIPLE CHOICE QUESTIONS ( 1x5=5)
. What is the name of Amrita’s village ?
(a) Khelijadi (b) Sonpur (c) Mulund

. Which state do the Bishnoi belong to
(a) Kerela (b) Tamil Nadu (c) Rajasthan

. What did Amrita do when the soldiers were cutting the
trees ?

(a) She hugged the trees

(b) (b) She ran away

(c) She fought with soldiers.

. What do trees give us ?
(a) Food & Wood (b) Oxygen (c) All

. Which trees are found in the desert ?

(a) Cactus (b) Khejadi (c) Both

. WRITE VERY SHORT TYPE ANSWERS :- (2x2=4)
1. Who are the Bishnois ?

2. Answer in one word :-

i)A tree commonly seen in Rajathan -




ii)A tree having high medicinal value —

C. WRITE SHORT TYPE ANSWERS :- (2x3=6)
1.Define this term “ Deforestation “.

2. a) Many people including Amrita and her daughters
( died / alive ) to save the trees. (1)
b) Why are night cooler than day in a desert ? ( 2)

D. WRITE LONG TYPE ANSWERS :- ( 1x5=5)
1. a) In which month do the leaves fall ? (1)
b) (i) The Wood was needed to build the (1)
(ii)) The villagers the trees to protect
them from getting cut down. (1)

c) Write any three uses of Khejadi trees ? (2)




O.P.JINDAL SCHOOL ANGUL
QUESTION BANK OF EVS
CLASS - IV

CH.- 3 (ADAY WITH NANDU)
A. MULTIPLE CHOICE QUESTIONS :-

1. Which is the largest water animal ?
(a) Sea Horse  (b) Blue Whale (c) Dolphin

2. Elephants love to play with
(a) Mud and water (b) water (c) Mud and clay

3. How many hours an elephant sleep in a day ?
(a) 3-4 hrs (b) 6-7 hrs (c) 2-4 hrs

4. The group of an animal are called
(a) Herds (b) Flock (c) None

5. Which is the fastest running animal ?
(a) Tiger (b) Lion (c) Cheetah

B. WRITE VERY SHORT TYPE ANSWERS:-
1. Unscramble the given words -
a) RSOTICH —

b) LUBE HAWLE —
2. Name any two National Parks of India

C. WRITE SHORT TYPE ANSWERS :- (2x3 =6)

1.a ) Who is the leader of elephant herd ? (1)

b ) What is the function of big ears of the elephant ? (2)
2. a ) What is the approximate weight of an adult elephant ? (1)

b ) Who are the members of an elephant herd ? (2)
D. WRITE LONG TYPE ANSWERS :- (1x5=5)
1. a ) What is the age and weight of Nandu ? (2)

b ) Why is living in a herd important ? (3)
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Question Bank
Class-1V
Sub: Maths
Ch-3

1. Fill'in the blanks:
1x5=5
a. 10lessthan 358. ..........
b. 100 more than 1908. .......
c. 1lessthan 10,000. ............
d. Exactly between 550 and 660. ........
e. 500 more than 4550. ...
2. Add / Subtract. 2x2=4
a. 1212+ 268+ 89
a. 10650- 655
3. There are 1279 pupils studying in a school. 826 of them are boys. Find the
number of girls in the school. 3
4. A man saved X 7825 in a year. In the next year he saved ¥ 8200. How
much did he save in these two years?

5. Solve mentally and write the answer.

a. A autorickshaw has 3 wheels, 8 autorickshaws will have........ wheels.

b. A goat has 4 legs, so 300 goats will have......... legs.

c. A almirah costs ¥2000. So the cost of 3 almirah will be X........

d. A bus can carry 60 passengers,so 30 buses can carry....... Passengers.
e. Anju wants to buy 1 kg of tomatoes for ¥45 and 6 oranges forZ18. She will



O P Jindal School ,Angul
Question Bank- Unit 2 (ENGLISH)
1 mark questions:(MCQ)

State whether the following statements are True (T) or False
(F).
(i)The poet finds the nose very funny. (1)

(ii) The nose sticks right our where all of it shows.
(1)
(iii) The nose is located between the chin and cheeks

(1)
(iv) Who is the poet of the poem Noses? (1)

a) Aileen Fisher
b) Mary Daunt
c) Ruskin Bond

(v) Who was Shetty ?(1)
a) ateacher
b) a magician

c) adoctor

Very Short answer:

2-Why is a nose important for you? (2marks)

3- Who looked around for shelter? (2marks)



Short answer:

4-Read the lines and answer the questions:

"I wish | had glass leaves instead. Men do not steal
glass leaves." The next day its glass leaves shone in
the bright sun. "How happy | am!" it said.

a)What did the fir tree wish for the third time? What
do men not steal? (3marks)

b) oh dear said the fir tree i like my old needle-like leaves
best for goats don't eat them and no man can steal
them.(Punctuate the given lines)

(3marks)




5- Write a short paragraph on “ Discipline is the key to
success.” (5marks)
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